LOBRERIR

(As)

(G

(G

@)

mﬂﬁ/ o

(As)

IE
1:100
1:500

V:
H

o
T.30
=8. 081m

e

EABHTHEEHK

el

o

ComEA/—THBASN

5.000

15.000
10.000

L18L6 HO00'9¢¢ —H000 9 = d3aH H
G898 HOO0O0'0¢c¢Z H000' 0 LL'ONH I
[.GC 9O HOOO0O 00¢ HO0O0 0¢c H O1L ONH I
262G HOOO'08L HO00' 0 6 ONH I
6lL6V HOOO 091 HOOO 0 8 ONH I
e/L9 Y HOOO' O L HO0O0O 0 L ONH I

™

<
Y80V HOO0O Oc¢lL HO00O ¢ = 9"ONH % I
60V HOOO'8LL HOOO'BL H L AdIH P o4 I

Y

<
(015X 4 HOOO'0O0L HO0O0O 0 H G ONH I
38V HOO0O 08 HO00O0¢c " ONH I
coOrvv HOO0O 09 HO00O0¢ H € ONH I
L6E Vv HOOO Ot HO0O0O 0OV ¢ ONH I
6808 HOO0O 0OZ¢ HO000 0c¢ H L " ONH I
L86 L HO0OO0O 0O HOO0O' 0 = dga+ I
=1 AN174 % A3
e o oW mEnT W oo A Mt%.w

IEES
B R %
7
il
B
DL=0.000

T
A

ke

Xm&ES

1:500




